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== &)
START
1
2| |LAamP sy
G52 T>=H#1s;

3 LAMP{R);
GS3. T=t#1s;
3
.1




ACTION (P} :

pidzn

h:=0.1;
start; start;
1 18
2 _AC.TIDN {P): 11 ACTION (P} :
i0ld =i; [| sampls = false;
sampla; GS511. T==t50ms;
2 17
2 | |ACTION {F) - 12 ACTION (P} :
e := real{refPLC) - realiy); [l sampla :=true;
G512 T==t50ms;
18
not start; start;
3 11
4 ACTION (P} :
1 [l i=00
_4_ —
13
e =-2000.0 and & = 2000.0; e==2000.0; e <= -2000.0;
5 10 13
5 ACTION (F) :
[l i=iDld+h*e; 8 a
u =>-32000.0 and u < 32000 u > 32000.0; u < -32000.0;
(] 11 14
-] ACTION (P) : 8 ACTION {P) : o ACTION {P) :
1 vAna = anafuj; 1 uAna =32000; 1 utna:=-32000;
not sampla; not sampla; not sampla;
T 12 15




(|81

1
1 ACTION (P} : 0
[l h=10.1; i
start; start;
1 16
2 | |ACTION (F): 11 ACTION {F) :
iold =1 Il sampla = false;
sampla; G511. T==t50ms;
2 1F
2 ||ACTION (P} 12 ACTION (P :
& = real{refPLC) - real{y); Il sampla = tue;
G512 T==t50ms;
18
nct start; start;
2 11
4 ACTION (P} :
I i=0.0;
ilambd
1 pila a
5 ACTION {P) :
] i=iOld+h=e;
u = -32000.0 and u < 32000 u > 32000.0; u < -32000.0;
= 14 14
[+ ACTION (P} : 8 ACTION (F) : £ ACTION (P} :
Il wAna = anafu); uAna = 32000; uAna = -32000;
not sampla; not sampla; not sampla;
T 12 15




1 ACTICN (P) : 10 1
M u:=0.0;
start; start;
1 18
2 ACTION (P) - 11 _AETIDN (P):
1 voud =v; sampla ;= false;
sampla; GS511. Tx=6200ms; I |
: 7 poleplace
3 ACTICN (P) : 12 _AETIDN (P):
1 scope =y sampla ;= frue;
e =-200000.0 G512 T>=t#200ms;
5 18
h ACTICN (P) :
1 &= Hr*realjrefPLC) - 00 11
u>=-18000.0 and u < 18000 u = 16000.0; u < -15000.0;
i 11 14
G ACTICN (P) : 8 ACTICN (P} : 9 ACTICN {P) :
Il uAna = anafu}; 'l uAn=a = 18000: | usna:=-18000:
not sampla; not sampla; not sampla;
T 12 5




.............. R

ACTION (P} :
out =0;

1

ACTION (P} :
inWPulse ;= in + 5000;

G52 Tr=t#1s;

ACTION [P} :
inWPulse =in;

stepresp

start, not start;
- = — |e
4 ACTION (P} : 8
1 inWPulse = in + 5000;
G54, T==t#1s; ES8. T>=t#100ms;
4 g
5 ACTION (P} :
| out = 12000; 9
start; not start;
— —_—
7
2
GS7. T==t#100ms;
9

in
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